CHEM 130: Balancing Equations Worksheet

Balance the following equations:

1. Zn( + ___ AgNOs(ag) = __ Zn(NO3)2(aq) + ___ Ag(9)

2. N2 (9) + H2(@) = ___ NH3(9)

3. NaCl(ag) + __ AgCoH302(ag) = _ NaCyH3z0(ag) + _ AgCl (9)
4. Mg(OH)2 (aq) + HaPOs(ag) = _ HxO(l) + __ Mga(PO4)2 (ag)
5.  HNOz(ag) + _ Ni(s) = __ Ni(NO3), (ag) + H> (9)

6.  BaHCO3)2(s) = _ BaCO3(s) + _ HO(@ + __ CO2(0)

7. _ BaClp(ag) + _ NaSOs(ag) = _ NaCl(ag) + _ BaSOq4(s)

8 _ AlxCO3)3(s) = _ AlO3(s) + __ CO>(9)

9.  Ca(s)+ ___ HO() = _ CaOH),(ag) + H> (9)

10 LiIHCO3(s) = __ LioCO3(s) + _ HO(g + __ CO»(0)

1. N2(@9) + __ 02(9) = N20s (9)

12 MgBrp(ag) + _ KOH (@& = _ KBr(ag) + __ Mg(OH)2 ()
3. _Mn(®+___ CuCl(ag) = ____Cu(® + __ MnCl» (9

4. 7Zn(® + ___ Sg(9 = ___zZnsS(9

150 NaOH(ag) + _ HoSOs(ag) = _ HO(l) + _ NaSO4 (ag)
6. K@+ _ HO() = _ KOH(ag) + H> (9)

17.  CsHpp () + O (g = HXO(@ +  CO,(9)

18.  KOH(ag) + _ HyCOs(aq) = _ H,O() + __ K»COj3(aq)

19  C4HgO,(Hh + O (g = HO(g +  CO»(g)

20._ Al +__ Sg(5) = _ AlLSz(9





